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1. ������ ก%*���	� 
�=�  
������=� ��
ก�� (ARG) 

� ก���ก
��� �ก��ก��������I ��#�ก� 
�
9������ 	�-/�)��. �
9�
3��9 
�*&9�*�ก*% �%'�
9  � ��� �0�9  
9	- �
<- 
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92�3��� �ก��ก��������I 
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9������ 	�-/�)��.  �%' 
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=�%	� � ���	��� 
���	� �	%���� 
G�96$	�*#�2� ARG (� �ก
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4. /�
���ก
�	$!�T ���� /�
)������9�0��0�	
��� 9-
� �
�ก
�  /�
/�
8		�*3
0��
�'���9�0�
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9	�/-/#
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9	���#
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/
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/
0
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��
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���
�
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�ก��
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2. ������ �	.	
��. �	</
�/
�0�1- /	�=�%�0��� 
��
ก�� (ARAC) 

ก���ก
��%'NO#6$	�*#��
92�3��� �ก��ก��
������I ��#�ก� �
9������ 	�-/�)��. 
G�96$	�*#�2� ARAC (� �ก
�6$	�*#�8	-
NO#��!�ก�!9 8#	-) �#	9%' 74.60 &  ����! 30 
��6*�
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3. ������ /	�� �	��� 
�/ 
��
ก�� (C&P)  

� ก���ก
��� �ก��ก��������I ��#�ก� 
�
9������ 	�-/�)��. �%'�
9(�'9O� 
��0���9
���� 

� NO#6$	�*#��
92�3��� �ก��ก��������I 
��#�ก� �
9������ 	�-/�)��. G�96$	
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�
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���ก
� 8
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Gm�&
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9��#	$!� ��#�ก� /�
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�
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��
/
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/
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/
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� �%'�
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���
�
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7
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4. ������ �	��<0 ��
ก�� 
(ANET) 

� ก���ก
��� �ก��ก��������I ��#�ก� 
�
9������ 	�-/�)��. �
9(�'9O� 
��0���9
����  �%'�
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3��9 
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� NO#6$	�*#��
92�3��� �ก��ก��������I 
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5. ������ �	.	
��.�	.��. 
��
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� ก���ก
��� �ก��ก��������I ��#�ก� 
�
9������ 	�-/�)��. �%'�
9(�'9O� 
��0���9
���� 

� NO#6$	�*#��
92�3��� �ก��ก��������I 
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�6$	�*#�8	-NO#��!
�ก�!9 8#	-) �#	9%' 81.00 &  ����! 30 
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